Answer:     S   + 2  =   n

                180

Problem:  d = rt  





Solve for r

Answer:  r = d
                    t

Problem:  6w – y = 2z

         Solve for w

Answer:  w = 2z + y 

                        6

Problem:    mx + 4y = 3t





Solve for x

Answer:  x = 3t – 4y
                        m

Problem:  9s – 5g = -4u



Solve for s

Answer:  s= -4u + 5g
                       9

Problem:  ab + 3c = 2x

         Solve for b

Answer:  b = 2x – 3c 

                        a

Problem:  2p = kx – t



Solve for x

Answer:  x = 2p + t
                       k

Problem:  ½ x + a = a + r

              Solve for x

Answer:  x = 2r

Problem:  2 h + g = d

                5

Solve for h 

Answer: h = 5(d-g)




     2

Problem:  2 y + v = x

                3

    Solve for y
Answer:  y = 3(x-v)
                       2

Problem:  ¾a – q = k 
    Solve for a

Answer:  a= 4(k + q)





3
Problem:  rx + 9   = h

                   5

     Solve for x

Answer:  x = 5h – 9 

                         r

Problem: 3b – 4   = c

                   2

    Solve for b 

Answer:  b = 2c + 4
                         3

Problem:  2w – y = 7w – 2

       Solve for w 


Answer:  w = 2 – y
                        5

Problem:  3a + y = 5 + 5a

            Solve for a

Answer:  a = Y - 5





2
Problem: V = LWH

    Solve for H


Answer:  H = V  
                    LW

Problem:  S =  a
                     1-r

   Solve for r

Answer:  r = a – s
                      S

Problem:  V = ∏r2h

      Solve for h

Answer:  h = V
                   ∏r2
Problem:  C = 5 (F – 32) 

                     9  
    Solve for F

Answer:  F = 9C + 32
                          5

Problem:  A = p + prt

    Solve for p 

Answer:  P =   A
                   1 + rt

Problem:  S = 180(n-2) 

            Solve for n

